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ﬁ%&g TREOBBOESSLADKRES TREDOHBESILADKRES TREOBBOSILADKRES TREDHEBBSSLADKRES
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Rl ma B TR e | B | e | o e | B e [T e T | BB e | & | e
1 100kN/mM#%#8Z % — -~ - —|3mZEBzE| — ~ - — —| 100kN/mZ#8 25 — -~ — —|3m%Ei#BZ2% -~ — — —
Thilst 1.00 | 000 ~ 554 69.21 | #hlist | 000 ~ 0.00| 1.62 8.67 ZhLlst 1.00| 500 ~ 6.33 69.21 | Zhils | 500 ~ 6.33 ] 1.62 8.67
9 100kN/mM##B % % — -~ — —|3mZE#BAD -~ - - —| 100kN/mM%#BZ % — -~ — —|3m#FBZD -~ — — —
Zh st 1.00] 000 ~ 5.70 7125 | ZFnlist | 000 ~ 0.00] 1.70 9.07 K10 1.00 | 500 ~ 6.37 7125 | #nullst | 5.00 ~ 6.37 | 1.70 9.07
3 100kN/mM#%#8Z % — -~ - —|3mZEBzE| — ~ - — —| 100kN/mZ#8 x5 — -~ — —|3m%Ei#BZ2% -~ — — —
Zrn Lot 1.00]1 000 ~ 6.64 83.83 | =xLl4t | 000 ~ 0.00| 1.66 8.90 Zh Lt 1.00| 500 ~ 8.18 83.83 | Znlist | 5,00 ~ 8.18 | 1.66 8.90
4 100kN/mM##B % % — -~ — —|3mZE#BAD -~ - - —| 100kN/mM%#BZ % — -~ — —|3m#FBZD -~ — — —
Zh st 1.00] 000 ~ 7.63 9780 | #h iyt | 000 ~ 7.63 | 2.13 11.39 Zh st 1.00 | 500 ~ 10.21 97.80 | Znllst | 5.00 ~ 1021 | 2.13 11.39
5 100kN/m##BZ % — -~ = —|3mxEzB| — ~ - — —| 100kN/MZE#BZ 2 — - ~ - —|3m%EEZS -~ — — —
ZThilst 1.00 | 000 ~ 7.38 94.11 | #hils [ 000 ~ 7.38| 2.45 13.11 Zh Lot 1.00 | 5.00 ~ 10.66 94.11 | Zhils | 500 ~ 10.66 | 2.45 13.11
6 100kN/m%E#BZ % — -~ = —|3mZzBZB| — ~ — - —| 100kN/Z#BZ % — - ~ — —|3m%EH{BZ B -~ - - -
Zh st 1.00] 000 ~ 757 96.82 | #nlist | 000 ~ 757 | 243 13.02 Zh st 1.00 | 500 ~ 11.01 96.82 | #nLlst | 5.00 ~ 11.01 | 2.43 13.02
7 100kN/mi#%#%%| 1.00] 000 ~ 3.09 149.23 |3m%#B% 5| 000 ~ 1.04| 3.47 18.55 | 100kN/mi%#8%% | 1.00 |10.85 ~ 40.11 149.23 |3m%i#B%5(40.00 ~ 40.11 | 3.47 18.55
ZHn Lot 1.00 ]| 3.09 ~ 10.87 100.00 | Z1List | 1.04 ~ 10.87 ] 3.00 16.05 s 1.00 | 5.00 ~ 10.85 100.00 | ZhList | 5.00 ~ 40.00 | 3.00 16.05
8 100kN/mM##B % % 1.00 ] 000 ~ 3.69 159.87 |3m%Z#E%%| 000 ~ 144 3.72 19.93 | 100kN/m%#8x5% | 1.00 [10.56 ~ 40.00 159.87 |3m%#Bx%|25.00 ~ 40.00 | 3.72 19.93
Zh st 1.00] 369 ~ 1148 100.00 | ZhList | 1.44 ~ 1148 3.00 16.05 Zh st 1.00 | 500 ~ 10.56 100.00 | ZhList | 500 ~ 2500 | 3.00 16.05
9 100kN/mM##B % % 1.00] 000 ~ 373 160.58 |3m%#EZX 5| 000 ~ 149 | 3.76 20.12 | 100kN/mi%#E2% | 1.00 |10.60 ~ 40.00 160.58 |3m#*x#BZ%|25.00 ~ 40.00 | 3.76 20.12
ZHn Lot 1.00 ] 3.73 ~ 11.52 100.00 | ZnList | 1.49 ~ 11.52] 3.00 16.05 s 1.00 | 5.00 ~ 10.60 100.00 | ZhList | 500 ~ 25.00 | 3.00 16.05
100kN/m%#BZ % ~ ImEBZD ~ 100kN/m%Z#8Z % ~ ImEEZD ~
Thilst ~ Zh st ~ Thilst ~ ZThLst ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zhlst ~ Zh st ~ Zh Lot ~ Zhst ~
100kN/mM%E#BZ % ~ ImEBZD ~ 100kN/m%Z#8Z % ~ ImEEZD ~
Thilst ~ Zh st ~ Thilst ~ ZThLst ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zhlst ~ Zh st ~ Zh Lot ~ Zhst ~
100kN/mM%E#BZ % ~ ImEBZD ~ 100kN/m%Z#8Z % ~ ImEEZD ~
Thilst ~ ZhLst ~ Thilst ~ Thist ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
Zh s ~ Zh s ~ Zhn Lot ~ Zh LS ~
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